2 3 I 4 5 I 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM_LLSi A |[NEW RELEASE LJH 08/13/05 Y LJC 08/13/05’
ITEM | PART NAME Qty NOTES C [ semuyipmigingse i YCH 07/18/08’ L LJC 07/18/08’
PR E— 1 PLASTIC HOOD 2 | SEE P/N D |shn 4t km YCH 05/20/10’ L LJC 05/20/10’
- ] 9 , [21] Lone soLT 2 | #a-40 E [wss12iiz4r 3«10 | YCH 08/30/10° Y LJC 08/30/10
- ‘ - 2.2| SHORT BOLT 2 #4—40 F |ADD P/N CODE LJIC 12/24/13’ 2 LIC 12/24/13
I 3 [ NuT EE J | DRAWING UPDATE JLZ 05/19/16’ ~
4 LONG SCREW 2 M3
NOTES:
24.99 5 SMALLEWASHER 2 1. Hardwares are all Nickel plated.
6 SHORT SCREW 2 M3 2. PART NUMBER CODE:
7 METAL WASHER 2 M3 DS1045 — 09 X X X X X — XL
30.8 Hood Materials ®
: A: ABS
12.0 B: Similar ABS
1 Washer type
[ 1: Metal
1 ! ] Bolt type
J L: Long
‘ S: Short
Packing type
‘ @ 1: Mix packing
‘ © ) Q: Full packing
| o B
‘ H — — Cover Material
[ ! P: Plastic(ABS)
- |- - - @ — E N 7 B Cover Color
‘ N | —N A: Gray
I ‘ ‘ B: Black
H H V: lvory
t\lilj__y Position
/ hEIﬁ 2 09: 9pin
‘ SHORT SCREW Q—\ .
O v L8 M3 3
) UNCH#4—40
2 AN
70 4—40 UNC Tt -
& 5.40
‘ | Short BOLT
—1 1 NUT  t=2.3mm
T © P —&— 3
6.6 | 11.8 4 o 480
i 2 0oV &7 ‘
; > 44 s 1
N7 } %é, g
]
Long BOLT LONG SCREW
SMALL WASHER
GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @»—ﬂ TITLE | D-SUB Plastic Hood 180°
X.  +0.60 x. &5 [UNOS mm 9 Positions
X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
XX +0.25 XX +2° =
DRAWING TYPE [COSTOMER = ﬁj}] EE % ﬁ IKE /L\\ ﬁ
SCALE 11 _ISHEET |1 OF 1 °© CONNFLY ELECTRONIC CO., LTD
DRAWING NO. |C—DS1045—09XXXXX—x—J| COANFLY "

4 |

5

6

I 7

| 8



Administrator
11


2 3 | 4 5 | 6 | I 8
BOM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED
: A | NEW RELEASE LJH 05/18/05' ~ LJC 05/18/05’
ITEM | PART NAME Qty NOTES C | e T YCH 07/18,/08 P~ LIC 07/18/08
e L PLASTIC HOOD | Z24SMgCF P D[ s &tk YCH 05/20/10’ ~ LIC 05/20/10°
h;'j “_m_“ l_,(_\d o |21] LONG BOLT 2 #4-40 E |ADD P/N CODE LIC 12/24/13 ~ LIC 12/24/13
| 2.2| SHORT BOLT 2 #4—40 J | DRAWING UPDATE JLZ 05/19/16’ ~—
’ 33.32 3 NUT 4 M3 NOTES:
| 39.2 s | ono screw B> R } porten e ol ekl st
5 SMALL WASHER 2 DS1045 — 15 X X X X X — ><L
6 SHORT SCREW 2 M3 Hood Materials ®
7 METAL WASHER P M3 B: Similar ABS
Washer type
1: Metal
1 Bolt type
L: L
5 _\ f ) S Short
) | \ | Packing type
1: Mix packing
/ Q: Full packing
conner L———c¢ Material
of - ° \ L = Pt
To N 14.3 Cover Color
M~ o 1.8 A: Gray
[ @‘%@ S/ UNCH4-40 B: Black
V: Ivory
] ‘——— Position
i%} 15: 15pin
y,
— Short BOLT
8.0
2
4—40 UNC
5
rﬂj m— \ é% LONG SCREW (
Y | T L ]
w 6.6 " 5 4.8
V’.
N\ \ ! 2z J 44 ASY !
| Long BOLT 9 _\ ‘ '
g a3 i
7 o — — l ;
O bt | |
7 ‘ I :
» | f SHORT SCREW SMALL WASHER
o M3 GENERAL TOLERANCE ANGLE TOLERANCE [PROJECTION | @--£F [TITLE] D-SUB Plastic Hood 180°
15 Positi
ﬁ@% - I X.  +0.60 X, %5 UNITS mm osttions
S 3 X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
11.0 XX +0.25 XX 22 —
16.2 DRAWING TYPE |COSTOMER = 45;];] EE ? ﬁ I}E /ZA\ a
o SCALE L1 _ISHEET |1 OF 1 o CONTNFLY ELECTRONIC CO., LTD
DRAWING NO. |C—DS1045—15XXXXX—X—J | CONNFLY "
' 2 3 4 | 5 6 I 7 I 8



Administrator
11


4 5 | 6 | | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A |NEW RELEASE LJH 10/26/05 ~ LJC 10/26/05’
ITEM PART NAME Q'ty NOTES C | #EHLE IR 22 ) YCH 07/18/08’ ~ LJC 07/18/08
54.0 1 PLASTIC HOOD | 2 | SEE P/N D | Afie YCH 05/20/10’ ~ LJC 05/20/10’
47.04 ‘ Al Y 2| #4-40 E |ADD P/N CODE LIC 12/24/13’ ~ LIC 12/24/13
10 2.2 SHORT BOLT 2 #4-40 J DRAWING UPDATE JLZ 06/19/16 ~
: 3 NUT R M3
| ‘ i 4 LONG SCREW 2 M3 NOTES: _
: 1. Hardwares are all Nickel plated.
-ﬂil'l: ' :I'Iﬂ 5 SMALL WASHER 2 2. PART NUMBER CODE:
DS1045 — 25 X X X X X = X
C ‘ y, 6 SHORT SCREW 2 M3 TTTT T Hood Materials ®
\ 7 METAL WASHER | 2 | M3 2 ® 8 Simiar ABS
14.3
S 1.8 Washer type
N S UNC#4-40 1: Metal
8.0 =
7tL’4H:|7’ Bolt type
L: Lo
w S: Short
‘ P.ockl'mg (yp(le
i Short BOLT 5’; m ?occkﬁx”m%
i 7C?ver M.o(erio\
l 3 L Barisess
o 3 ] . V3 s o,
i | — L e
‘ 5 25: 25pin
(ﬁ d | &
= J: . | . :L NUT  t=2.3mm
C : )
\ - ©
40.8 5
4.8
4—40 UNC \ S ‘ [
| 1] \‘ ﬁl . E
I .
6.6 o B
44 3
Long BOLT 6
M3 c?’/'0
SHORT SCREW
GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION | @—&-F | TITLE | D-SUB Plastic Hood 180°
X +0.60 X 45 UNITS mm 25 Positions
X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
XX +0.25 XX +2°
»
DRAWING TYPE |COSTOMER )1%' ﬁ]}] EE ? ﬁ IEE /A;\ a
SCALE 1:1 |SHEET [1 OF 1 o I
DRAWING NO. |IC—DS1045—25XXXXX—X—J| EONNFLY CONNFLY ELECTRONIC CO., LTD
1 2 3 4 | 5 6 I 7 I 8



Administrator
11


1 2 4 5 I 6 I 7 I 8
- REV. DESCRIPTION DRAWN CHECKED APPROVED
| A |NEW RELEASE LJH 10/26/05 ~ LJC 10/26/05’
TEM ;L/ZF;TT\(JNA}:A(SOD Q;Y = EiTNES C | st YCH 07/18/08’ ~ LJIC 07/18/08'
LONG BOLT A 4a-a0 D | "t YCH 05/20/10’ ~ LJC 05/20/10
2 ShorT Al 5 #2-40 E |ADD P/N CODE LJC 12/24-/13: ~ LJIC 12/24/13
3 NUT 5 M3 J | DRAWING UPDATE JLZ 05/19/16 ~
4 LONG SCREW 2 M3 NOTES: i
1. Hardwares are all Nickel plated.
5 SMALL WASHER 2 2. PART NUMBER CODE:
DS1045 - 37 X X X X X = X
6 SHORT SCREW 2 M3 T_Hood Materials ®
7 METAL WASHER 2 M3 B Simiar ABS
Washer type
1: Metal
Bolt type
29.8 9.70 L o,

= 2 ® T T ading
14.3 Q: Full packing
A/J L]NEC#474O 7C.uver M_oterio\
/N A i N N [ 4. G
e = B Block
V: Ivory
— ——— Position
M 37: 37pin
7 J{’ Short BOLT
3
M3
—
NUT t=2.3mm
12.05 LONG SCREW
4.8
S\H
2 232 | [
13.70 4-40 UNC ‘\ = - l
T \ ]
=H T
6.6 . 6
44 3 s
Long BOLT BN
SHORT SCREW
GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @4} TITLE| D-SUB Plastic Hood 180°
X. +0.60 X. +5° UNITS mm 37 Positions
=) X +0.38 X 13 SHEET SIZE A4 SERIES | DS1045 SERIES
315 < XX 10.25 XX x2
DRAWING TYPE |COSTOMER )T?C #ﬂ EE ? ﬁ‘ IKE j
Metal
SCALE 1:1 |SHEET [1 OF 1 o
DRAWING NO. IC—DS1045—37XXXXX—X—J| GORNFLY CONNFLY ELECTRONIC CO., LTD
1 2 4 | 5 6 I 7 I 8



Administrator
11


11.10

4 5 l 6 l 7 l 8

REV. DESCRIPTION DRAWN CHECKED APPROVED

A | NEW RELEASE YCH 05/24/11 ~ LIC 05/24/11

B |ADD P/N CODE LIC  12/24/13 ~ LC 12/24/13

C | Arrange Drawing JLZ 10/09/14' ~ LIC 10/09/14
69.50 J | DRAWING UPDATE JLZ 05/19/16" ~
61.00

NOTES:

53.80

45.90

49.79

12.72
7’ &
& N
+ <
BOM LIST
ITEM PART NAME Q’ty NOTES

1 PLASTIC HOOD 2 SEE P/N

2 BOLT 2 #4740

3 NUT 2 M3

4 M3*10 SCREW 2 M3

5 M3*12 SCREW 2 M3

6 BIG WASHER 2 M3

1.

Hardwares are all Nickel plated.
2. PART NUMBER CODE:

DS1045 — 50 X X X —

o

Hood Materials®
A: ABS
B: Similar ABS

Packing type
1: Mix packing

Cover Color
A: Gray
B: Black

Cover Material
P: Plastic(ABS)

Position
50: 50pin

3

M3

OF

NUT  t=2.3mm

4
J11.5
&7 o

LONG SCREW

6.0

%@»

LONG SCREW BIG WASHER
GENERAL TOLERANCE ANGLE TOLERANCE |PROJECTION | @ 3} [TITLE | R ———
X. +0.60 X. +5° UNITS mm 50 Positions
X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
XX +0.25 XX +2°

DRAWING TYPE [CUSTOMER

SCALE 1:1

[SHEET [ 1 OF 1

DRAWING NO.

C—DS1045—-50XXX—X—-J

B T AT B i

connFLy® CONNFLY ELECTRONIC CO., LTD

4 |

5 6

| 8



Administrator
11


	DS1045
	DS1045A
	DS1045B
	DS1045C
	DS1045D

